ALLOTEC

Investment Casting
R IRESE 2020



AO2

o~
A 28.4 28.4
a 25.8 25.8
B 14.8 14.8
b 12.6 12.6
gc 25.4 28.6
D 55 55
H 48.2 48.2
W 33.5 33.5
\ X° 6.5° 6.5°
wt 120g 110g
Fork Crown
_ A 26.7 26.7
a 23.5 23.5
B 19.1 19.1
b 16.1 16.1
2C 25.4 28.6
D 5.7 5.7
H 64 64
W 41.8 41.8
X° 3.66° 3.66°
wt 1609 150g
Fork Crown
T A 28 28 28 28
A Jﬂ B 19.3 19.3 20 20
A ! ac 25.4 28.6 || 254 28.6
B D 5.5 5.5 5.5 5.5
N7 H 59 59 59 59
W W 39 39 39 39
X° 4° 4° 4° 4°
° o v’ 57° 57°
X H XL wt. 1309 || 1209 1309 || 120g
LSS
28 28
20 20
25.4 28.6
5.5 5.5
52.5 52.5
32.5 32.5
5.4° 5.4°
160g 1609
Fork Crown
28 28
20 20
25.4 28.6
55 55
70 70
50 50
3.2° 3.2°
1159 1509

(2 ALLOTEC )




AO7

Fork Crown e MODEL] A07-1 | A07-2
RA 9.2 9.2
RA RB 4 4
zC 25.4 28.6
D 55 55
H 81.4 81.4
W 60 60
RB Wt. 1859 1509

AO8

Fork Crown MOD A08-1 T A08-2
A 24 24
gc 25.4 28.6
D 55 55
H 63.5 63.5
W 39 39
x° 3° 3°
Wt. 110g 100g
Fork Crown MOD A09-1 | A09-2
A 35.5 355
a 28 28
B 33.2 33.2
b 14.5 14.5
gc 25.4 28.6
D 5.5 55
H 64 64
W 435 435
XO 50 50
YO 70 70
Wit. 1669 1559
Fork Crown MOD A10-1 T A10-2
A 28 28
B 20 20
@C 25.4 28.6
D 5.5 5.5
H 72 72
w 51 51
X° 3° 3°
Wi. 210g 200g
MOD Al11-1 | A11-2
A 28 28
B 20 20
@c 25.4 28.6
D 5.5 5.5
H 60.7 60.7
w 43 43
X° 5.69° 5.69°
Y © 5.71° 5.71°
Wt. 1059 95¢g

('3 ALLOTEC )




Al2

MOD Al12-1 | A12-2
Fork Crown - 9 9

B 20 20

agc 25.4 28.6

D 5.5 5.5

H 75.3 75.3

W 52 52

Wt. 1509 1379

Al3

Fork Crown ' MODEL| A13-1

A 30 30
B 20 20

ac 25.4 28.6
D 5.5 5.5
H 91.5 91.5
w 70 70
X° 1.3° 1.3°
Wt. 203g 2059

Al4

MOD Al14-1 | A14-2
Fork Crown < * *

B 20 20

agc 25.4 28.6

D 5.5 5.5

H 70 70

W 50 50

X° 2.3° 2.3°

Wt. 158g 131g

MOD A15-1 | A15-2
A 29.5 29.5
B 18.5 18.5
@c 25.4 28.6
D 5.5 5.5
w 33 33
X° 4.43° 4.43°
Wt. 1509 1409

A16/Al7

Fork Crown A16-1 | A16-2

i—D A 28 28 28 28

C> ral B 20 20 20 20

ac 25.4 28.6 25.4 28.6

% D 55 5.5 5.5 5.5

H 70 70 64 64

W W 50 50 42 42

x° 3.2° 3.2° 3° 3°

W 158g 135g 110g 108g
XO

(4 ALLOTEC)




VIOU
A 28 28
B 20 20
@c 25.4 28.6

H 72.2 72.2
N% w 52 52

X _ °|| 3.35° 3.35°

v° 57° 5.7°

Wi. 168.98g || 146.45g

YO

Al8

Fork Crown H OD A18-1 | A18-2
@c A 24 24
D ac 25.4 28.6
A 9 ! @i_g D 5.5 5.5
ﬁ PERS % H 63.5 63.5
! f W \ w 43 43
1 xo 30 3C)
\ W, 100g || 90g
-

A28

_ | ac 25.4 28.6

oA ! D 5.5 5.5
@ ?’j ) (%1 % H 63.5 63.5

, W 43 43

W

\\ //\l XO 38 38

\ Wi. 100g 90g
N

JAMRS)

MOD [ A19-2 |

Fork Crown A 37 37
B 21 21

ac 25.4 28.6
D 5.5 5.5
H 63 63
w 39 39
X° 5° 5°
YO 70 70

Wi, 215g 205g

A20

Fork Crown

T o )
28 28

7 |\ i D A
, ! B 20 20
\L @c 25.4 28.6
D 55 55
H 71 71
, w 53 53
I w | X° 4.26° 4.26°
X° HX° Wi. 1869 192g

(5 ALLOTEC )




viOD
A 28 28
B 20 20
gc 254 28.6
D 5.5 5.5
H 61.68 61.68
W 40 40
X° 2.43° 2.43°
Wt. 1889 1629

A22/A24

Fork e MODEL| A22-1 [ A22-2 T A24-1 TA2a-2 |

A 28 28 28 28

B 20 20 20 20

C 25.4 28.6 25.4 28.6

D 5.5 5.5 5.5 5.5

H 83 83 83 83

w 61 61 61 61

X° 2.56° 2.56° 2.56° 2.56°
YO 70 70

Wt. 1859 1629 1859 1629

RA 9.2 9.2
RB 4 4
ac 254 28.6
D 5.5 5.5
H 81.4 81.4
w 60 60
Wt. 1859 1509

RA 9.2 9.2
RB 4 4
ac 25.4 28.6
D 5.5 5.5
H 83 83
W 40 40
X° 5° 5°
Y° 4.7° 4.7°
W. 1779 1649
A 28 28
B 20 20
[Xe 25.4 28.6
D 5.5 5.5
H 60.9 60.9
w 38 38
X° 6° 6°
Wit. 105g 95¢g

(6 ALLOTEC )




Al110

Fork Crown

Fork Crown

Al70

Fork Crown

A210

Fork Crown

A310

Fork Crown

(7 ALLOTEC )

ViOD
A 28 28
B 20 20
@c 25.4 28.6
D 5.5 5.5
H 64.5 64.5
W 43 43
x° 3.7° 3.7°
YO 70 70
Wt. 125¢g 1219
MOD A170-1] A170-2
A 28 28
B 20 20
ac 25.4 28.6
D 5.5 5.5
H 57.87 57.87
w 36 36
Xo 40 4 o
Wi, 180g 1569
MODEL] A210-1JA210-2
A 28 28
a 24.9 24.9
B 20 20
b 16.9 16.9
acC 25.4 28.6
D 55 5.5
w 42 42
x° 3.5° 3.5°
Wi. 1229 132g
ViOD A310-11A310-2
A 41.6 41.6
a 375 375
B 11.6 11.6
b 7.5 7.5
@C 25.4 28.6
D 55 55
w 38 38
X° 3° 3°
Y° 7° 7°
Wi, 123g 110g




DO1

Fork End

DO2

Fork End

Fork End

D04

Fork End

JdA 19 19 19
7B 16 16 16
C 8.4 8.4 8.4
D 10 10 10
M M5X0.8 | |2-M5X0.8
0 e T T
Y© 44 44 44
Wi. 759 759 759

D05

Fork End

2 A 16
2B 13.5
D 9
y° 50°
Wit. 669

('8 ALLOTEC)




D06

Fork End

DO7

Fork End

D09

Fork End

D10

Fork End

D11/D20

Fork End

(9 ALLOTEC )

2 A

" D06 Y D06-1Y D06-2 ]

17.5 17.5 17.5
B 14.9 14.9 14.9
gD 10 10 10
Y° 45 45 45
M M5X0.8 |[2-M5X0.8
Wt. 649 769 889

g A 15
7 B 13
D 9
X° 4°
YO 500
Wt. 35¢g

A

33.7
B 18.6
D 9
M M5X0.8
X° 8°
YO 28 o]
Wt. 1269

17.3 17.3 17.3

11 11 11

9 9 9
M5X0.8 | [2-M5X0.8

45° 45° 45°

60g 709 80g

oA

20
17 17 17

19.6
7B 16 13.9 13.9 13.9
D 10 9 9 9
M M5X0.8 M5X0.8 || 2-M5X0.8
X° 4° 4° 4° 4°
YO 3 [e] 7 [e] 7 o] 7 o]
Wit. 84¢g 84¢g 89¢g 94g




20.8
15
10
M5X0.8
45°
429

o

s|<¥|=z|o|wm >

—

oA

15.5 15.5 15.5
7B 13 13 13
D 9 9 9
M M5X0.8 2-M5X0.8
XO 4 o 4 [¢] 4 o
Y©° 45° 45° 45°
Wt. 45¢g 519 579

D14/D17

Fork End

=
2A 19.6 19.6

19.6 19.6
7B 15 15 15 15
D 9 10 10 10
M 2-M5X0.8 M5X0.8 || 2-M5X0.8
X° 4° 4° 4°
Y° 20° 20° 20° 20°
Wit. 45¢g 45¢g 51g 579

A 20
B 17
D 10
W 569

D16

Fork End

DA 13.5
7B 10

D 10

M M5X0.8
X° 3.5°
Ye° 45°
Wi. 45g

(10 ALLOTEC )




D18

Fork End TA
7B
M0
oA 15.4 15.4 15.4
@ 7B 105 105 105
D 9 9 9
M M5X0.8 || 2-M5X0.8
X° 4° 4° 4°
X° y° 50° 50° 50°
o Wit. 669 729 789

D19

Fork End

JA 31.8 31.8
2B 29.4 29.4
D 10 10
M M5X0.8

Y° 15° 15°
Wt. 108g 114q

oA 24.5 24.5
2B 22 22
D 15.1 15.1
M1 2-M5X0.8
M2 M2 M15X1.5 || M15X1.5
oF 235 235
Wit. 1329 141g

DA 15.5 15.5 15.5
?B 13 13 13

D 9 9 9

M M5X0.8 || 2-M5X0.8
Xo 40 40 40

ve 45° 45° 45°
Wt. 459 51g 589

POt
DA 17 17 17 15 15 15

2B 14 14 14 12 12 12

aC 12.1/15.1|(12.1/15.1|12.1/15.1|{12.1/15.1|{12.1/15.1|12.1/15.1

2D [19.2/21.2|[19.2/21.2|119.2/21.2|[19.2/21.2|[19.2/21.2|19.2/21.2
M12X1.5{|M12X1.5{|M12X1.5||M12X1.5||M12X1.5||M12X1.5

M1 M15X1.5{|M15X1.5[[M15X1.5||M15X1.5||{M15X1.5||M15X1.5
M2 M5X0.8 |[2-M5X0.8 M5X0.8 |[2-M5X0.8
X° 4° 40 40

W, 1259 || 131g || 138g || 118g || 124g | 131g

(11 ALLOTEC)




Fork End
DA 17 17

17

B 14 14 14

@c 12.1/15.1 || 12.1/15.1 || 12.1/15.1

2D 19.2/21.2 || 19.2/21.2 || 19.2/21.2

M1 M5X0.8 2-M5X0.8

M2 M12X1.5 || M12X1.5 | M12X1.5
M15X1.5 || M15X1.5 | M15X1.5

Wi. 151.07g 158.83g || 166.59g

oA 17 17 17
o8B 14 14 14
D 10 10 10
M M5X0.8 |[2-M5X0.8
Ye 45° 45° 45°
C 23.5 23.5 23.5
Wt 90.58g || 98.34g || 106.52g

Dropout Nut

DA 14

7B 12.5
M M5X0.8
Wt. 11.2g

DA 32.6
D 9.2
Wt. 75.29

oA 32.6
2B 12.1/15.1
N M12X1.5
M15X1.5
W 124.8g

(12 ALLOTEC )




D120

Fork End
OA 15.5
@B 13
D 9
X° 4°
Y° 40°
Wt. 429

D210

Fork End
DA 14 14 14
7B 11.1 11.1 11.1
D 9 9 9
M M5X0.8 2-M5X0.8
X° 4° 4° 4°
Ye° 45° 45° 45°
Wit. 419 469 529

D310

Fork End

DA 23.67]|| 23.67 23.67
D ﬂ 7B 7 7 7
D 9 9 9
M M5X0.8 |[2-M5X0.8
X° 4° 4° 4°
Y° 45° 45° 45°
M 459 519 459

BO1
Seat Ciamp

JA 29.4
28 318
C 22
@D 6.3
E 16
F 11
W 60g

BO2

Seat Clamp
MODEL
DA 26.8 27.2
2B 29.6 28.6
C 22 22
@D 8.5 8.5
E 10 10
Wt. 509 509

(13 ALLOTEC )




B0O3/B04

Seat Clamp

DA 26.2 26.8 29.8 30.4
2B 28.6 29.6 31.8 32.8
C 20 20 21 21
el __T__'] @D 8.5 8.5 8.5 8.5
E 10 10 10 10

71 Wt. 40g 40g 48g 48g
@D oB
- 05/B25
Seat Clamp .

C

- T

, oA 26.2 29.8
Ji 2B 28.6 31.8
[ 12 12
@D 8.5 8.5
3G 5.2 5.2
Wt. 509 509

BO6/BO8/B26
Seat Clamp 2

%) 26.8 29.8 21
gB 28.6 324 23
G C 20 20 18

L ool [ @D 85 85 8.5
BN W, 229 229 259

BO7 oA
Seat Lu : cl o g MODEL
) - [ — oA 26.8
J 7B 28.6
. C 23

oE @D 8.5
D E 25.4
X° 69°1735°/76°/79°
Wt. 489
o8 |
Seat Clamp
MODEL] B09-1
c DA 26.8 29.8
oA 2B 28.6 31.8
B C 21.5 215
e e
\
\/
2B

(14 ALLOTEC )




SI%:&LLQIB 16/B19/B17/B18/B23

(B10 [ B16 [ B19 | B17 | B18 | B23 | B24

272 | 272 | 272 | 272 | 272 || 272 | 27.2
286 || 286 | 28.6 | 28.6 | 28.6 || 28.6 | 28.6
20 20 20 20 20 20 20
85 |85 |85 |85 |85 |85 |85
254 [ 254 | 254 [ 286 ||286 | 286 | 28.6
14 14 14 14 14 14 14
76° || 76° [ 80° | 76° | 73° | 75.5°| 74.5°
51° [ 45° | 54° [ 51° || 40° | 46° | 43°
659 65¢g 65¢g 659 659 65¢g 659

MODEL| B12 |
DA 26.5
7B 29.8
gcC 6.3

Wi, 23g

- 13/B14
Seat Clamp on MODEL [B13-11B13-21B14-1]B14-2/ B14-3

BA 268 | 272 || 294 | 298 | 31.8
7B 286 || 298 || 31.8 | 324 | 349
@D 6.3/8.2(6.3/8.2 | 6.3/8.2 82

6.3/8.2

UI\ I LT\ Wt. 20g 20g 20g 20g 20g
\J]_/ /@D

\~
B

B15/B20/B22

Seat Clamp MODEL] B15-1 | B20 Y B22-1 |
BA 27.2 29.4 27.2
' 7B 286 31.8 29.8
@C 8.5 8.5 8.5
Wit. 32g 35¢g 33g

B21

Seat Clamp

»

DA 14.7
7B 8.5
12.5

gc
Wi. 249

@B

(15 ALLOTEC )




B27

Seat Lug

B28

Seaf Lug

B29

Seatf Binder

Seat Clamp

o1

MODEL

DA 27.2
7B 28.6
c 20
J @D @D 8.5
' GE 28.6
X° 69173.5175.5177.5182.5
Wi. 579

MODEL

- 272 | 27.2 272 272 272 272

| @D @ B 286 | 286 | 28.6 | 28.6 || 286 || 286
1 X C 22 |22 |22 22 |22 |22
i % . 2D 84 |84 |84 |84 |84 |84

‘ \ o E 254 | 254 | 254 | 254 | 254 | 25.4

| o F 105 | 105 | 105 | 105 | 105 | 105
01 73° || 76° | 70.5°| 76° | 76° | 73°

02 62 46° || 49° |55° [45° |51° | 42°

Wi. 85¢g 85¢g 85¢g 85¢g 85¢g 85g

MODEL[ B29-1 | B29-2 ]
RA

14.3 15.9

7B 11 11

gc 6.5 6.5
w 19.5 19.5
W 10g 10g

B31

Seat Clamp

oA 268 | 298 | 272
2B 286 || 318 | 298
e e~ C 195 || 21 21
oo 2 2D 6.5 65 65
oF 1 1 1
Wi. 229 229 229

DA 26.8 29.8 31.8 27.2
@B 28.6 31.8 34.9 29.8
C 21.5 21.8 23 23

@D 12 12 12 12
OE 8.5 8.5 8.5 8.5
Wi. 329 34g 36g 369

(16 ALLOTEC )




B110
Seaf Lug oA

B130/B131/B140/B150/B151/B16€

Seaf Lug

MODEL

B110

gA 27.2
c B 28.6
f | @D C 195
| T @D 8.5
Mt - BE 25.4
OE X° 705°973.5°/76.5°
r-\*‘ Wi 579
XO
2B |
B120/B126 on
Seaf Lug . c < o
18 MODEL| B120 B126
| T PA 27.2 27.2
oE ! 2B 28.6 28.6
u C 19.5 19.5
@D 8.5 8.5
X° '\ BE 28.6 28.6
x° 057735765 || 7057735776.5°
W 579 579
oB

oA MODEL
C 2D g A 27.2 27.2 27.2 29.4 || 27.2 || 29.4
Fq— 2B 28.6 29.8 28.6 31.8 || 28.6 || 31.8
‘ . c 19.5 215 20 215 | 215 || 235
o | @ D 8.5 8.5 8.5 85 |85 | 85
@ E 25.4 254 | 28.6 28.6 || 31.8 || 31.8
ﬂ\ X° TSTSTIVRL| 74.5° | EmSTSIIIRENs|| 73.50/89°) 78.8° || 73810
° | Wi. 60g 769 659 70g || 76g | 769
.
7B

B181/B191

U MODEL
DA 27.2 27.2 29.4
2D @ ) 28.6 28.6 31.8
OE | - C 19.5 20 21.5
u ‘ i @D 8.5 8.5 8.5
| L OE 25.4 28.6 28.6
X° X° 73.5°175°179°|| 74°176°178° ||  73.5°
Wt. 579 609 659
oB |

Seat Clamp
MODEL
DA 27.2 29.4
7B 28.6 31.8
C 21.5 21.5
@D 8.5 8.5
Wt. 559 619

(17 ALLOTEC )




25

B212/B222
Seaf Lug

01

B221

Seat Lug

o

™
62
OB~

B210/B220
SeatLug

B183/B193
Seat Clamp o

A 27.2 29.4
2B 28.6 31.8
C 20 20
@D 8.5 8.5
Wit. 69g 789

MODEL

g A 27.2 27.2
gB 28.6 28.6
C 21.5 21.5
gD 8.5 8.5
g E 254 28.6
D e 23.6 26.4
X° 12.5°715°(18°)| 73.5°
Wt. 82g 979

MODEL

g A 27.2 | 27.2
g B 28.6 | 28.6
] 21 21

@ D 8.5 8.5

g E 254 | 28.6

D F 16 16
01 73°30773°30°
62 49°107|49°10°
Wt. 128g |133g

MODEL

27.2

28.6
c 21.5
@D 8.5
OE 28.6
Te 26.4
oF 14
01 76°
92 51°
Wt. 1139

MODEL

g A 26.8 27.2

B 28.6 | 28.6
C 21 21.5

@D 8.5 8.5

g E 25.4 28.6
X° TAITE[78° || T4°[76°178°
Wi. 729 729

(18 ALLOTEC )




B232/B242

Seat Lug oA

LT MODEL
g A 27.2 27.2
g B 28.6 28.6
C 21 21
JE g D 8.5 8.5
X° g E 25.4 28.6
JF 15.9 15.9
01 73°30°|73°30°
62 49°10°]49°10°
Wi. 92g [100g

Seat Lug MODEL
| 2 A 272 | 272 | 272 | 272

D D 2B 28.6 28.6 28.6 28.6
C 20 20 20 20
gD 8.5 8.5 8.5 8.5
%) / g E 14 14 14 14
g F 14 14 14 14
o1 rw 01 73.5° |74.5° 77.6° | 80°
02 02 45° ||49.6° 54.9°| 54°
— Wt. 95¢g 95g 95¢g 95¢g
B

B270/B280
Seat Lug _ .

o A 27.2 | 27.2
2B 28.6 || 28.6
C 21 21
2D 8.5 8.5
o E 254 | 28.6
2 e 23.6 | 26.8
X° 74° 74°
W, 102g |113g

B310/B320

Seat Lug
MODEL

DA 27.2 27.2

B 28.6 28.6

C 21 21

@D 8.5 8.5

OE 25.4 28.6

De 23.6 26.8

X° 74°/76° 74°

Wi. 829 979

B330/B340

Seat Lu
. MODEL

! = A 27.2 27.2

()-)eD oB 28.6 286

- | - C 21.5 21.5

= i @D 8.5 8.5
OE c OE 254 28.6
e | X° 75° 73.5°
WE. 1289 133g

I ——
B

(19 ALLOTEC)




M171/M173/M181
Seat Lug

m
B

28.6 31.8 28.6
IE 25.4 254 28.6
X° 61°/73.8°/87°195.8° 95.8° 71.2°80.2°183.9°/108°
Wt. 429 629 50g

M175/M176

Clamp

DA 28.6 28.6
@B 14 14

X° 55.44°
y° 7° 5.01°
W, 30g 31g

RA

14.3
OE 28.6
X° 77.3°
Wt. 429

TBO1

Seat Clamp

oA 28 30 33
2B 29.8 318 34.9
[ 20.5 22 23.7
@D 10.5 10.5 10.5
M M6X1.0 || M6X1.0 M6X1.0
Wi. 30g 329 33g
Seat Clamp oA
C
i
. \:l DA 27.2 28 30 27.2
% B 286 29.8 318 34.9
C 20 20.5 22 235
2B @D 8.5 8.5 8.5 8.5
Wi. 249 23¢9 259 279

(20 ALLOTEC )




T C O 1 MODEL | TCO1R | TCO1L | TCO1H
Dropout D 10 10 10
C

26
M1 M1 M3X0.5
M2. M10X1.0

WH.. 329 479 249

MODEL [ C01/CC 0
DA 15
Da 12
7B 16
@b 14
c 26
@D 10
G [M5X0.8[2-M5x%0.8
H 5
M M10X1.0
X° 48°/54°/60°/70°
Ye 60°
W.. 200g

MODEL

DA 16

Ja 14

7B 19

[%]0) 17

C 26

@D 10

G M5X0.8
M M10X1.0
X° 48°/54°/60°
Wt.. 130g

CO3

Dropout 125

135
26

10

8

M10X1.0
66°/70°/74°

30°

809

C04
Dropout "MODELY Co4-1

16
135
18
15.5

27
10
M5X0.8
M10X1.0
45°/55°/62°
1139

(21 ALLOTEC)




MODEL | CO5H O5R 0

C 30

@D 10 10 10
M MI10X1.0 || M3X0.5

Wt 33g 32g 33g

Dropout

M
A MODEL
o8B

16
ﬁ 2o, {m b 14
k I C 27

@D 10
E 8

M M10X1.0
M X 72.5°
Wi. 1059

Dropout oA 14
Ja 11.8
7B 18.8
%)) 13.8
C 26
@D 10
OE 6
M M10X1.0
X° 48°
| ] Wi, 205g
Df°p°“t S MODEL
| | DA 10
: : : RB 23
] L1 RC 19
R @D Wt 2059
|
|
I

‘Z’A MODEL
X° DA 12.5

<4 \ B 13.5

i \ / \ / C 26

GB! f ( / D 10

ad = oE 8
\\ Y M M10X1.0
c X | B
Y° 60°
N W, 80g
E M

(22 ALLOTEC )




Cl4

MODEL
DA

Dropout 12.5 12.5 125
Za 10 10 10
C 28 28 28
D 10 10 10
M1 || M4ax0.7 || Max0.7 || Max07
M2 M5X0.8 || 2-M5X0.8

M3 M10X1.0 || M10X1.0 || M10X1.0
X° A5°1B5°162°166°T70° | | 45°/55°(62°/66°170°| | 45°155°16.2°166°170°
Wi. 171g 1779 183g

Cl5

Dropout

DA 11
7B 12.5

D 10

M M4X0.7
X° 55°/62°/66°/70°
Wit. 1809

C16

Dropout

DA 11
2B 12.5

C 28

D 10

M M10X1.0
X° 55°160°165°/70°/74°
Wt. 1309

Dropout MODEL
DA 13 13 13

Ja 11 11 11
B 14 14 14

ab 12 12 12

D 10 10 10

M1 M4X0.7 || M4x0.7 || M4xo.7
M2 M5X0.8 || 2-M5X0.8
X RGO | (S5 R G IO || 55 2o o ne
W 171g 189g 1979

MODEL | C18-2

B 13.2
ab 10.5
C 34.2
D 10

M1 M3X0.5
M2 M5X0.8
M3 M10X1.0
X° 55°
W, 2009

(23 ALLOTEC)




M1

Dropout o "

C20-1

C 30
[%]9) 10

M1 M5X0.8
M2 M10X1.0
Wt. 1049

C22

Dropout

C49

MODEL

ZB 13.2

C 26

@D 10

M1 M4X0.7

M2 M5X0.8

M3 M10X1.0
179¢g

6.2

30

10

51

39.9

78.1

M6X1.0

2-M5X0.8

M10x1.0

3369

Dropout X B 6.2 6.2
_ C 30 30
D 10 10
H 51 51
L 39.9 39.9
W 78.1 78.1
M1 M6X1.0 M6X1.0
M2 M5X0.8
M3 M10X1.0 M10X1.0
M4 M3X0.5 M3X0.5
Wt. 230g 2309

MODEL C47-1

B 30.5 30.5

c 30 30

D 10 10

E 18 18

M1 M3X0.5 || M3X0.5
M2 M5X0.8
M3 M10X1.0|| M10X1.0
W 1129 112g

(24 ALLOTEC )




C24
C 30 30 30

Dropout
D 10 10 10
E 6.8 6.8 6.8
H 74.2 74.2 74.2
L 55.9 55.9 55.9
W 98.5 98.5 98.5
M1 M5X0.8 2-M5X0.8
M2 M10x1.0 || M10x1.0 || M10x1.0
M3 M6X1X14L|[M6X1X14L|[M6X1X14L,
M4 M3X0.5 M3X0.5 M3X0.5
Wt. 341g 3419 341g

C45 _
N

Dropout C 30 30
D 10 10
H 74.2 74.2
E 6.8 6.8
L 55.9 55.9
W 98.5 98.5
M1 M5X0.8
M2 M10X1 M10X1
M3 M6X1X14L|[M6X1X14L
M4 M3X0.5 M3X0.5
W. 246g 2469

C51
Dropout ' MODEL C51-1
30

C 30

D 10 10

M1 M10X1.0 || M10X1.0
M2 M5X0.8
Wt. 1009 110g

C

30
D 10
H 34
L 15
M1 2-M5X0.8
M2 M10X1.0
Wit. 3139

Dropout C55-2
/ oy 30
10
34
15
2-M5X0.8
M10X1.0
MI2XLT5MI2XL5ML2XLO
358¢g

(25 ALLOTEC)




Co64

Dropout

C64-2

28

10

34

15

2-M5X0.8

M10X1.0

MI2XLT5IMI2XLSML2KLO

318g

CS56

Dropout

MODEL C56-1

2B 16.6 16.6
@b 13.4 13.4
C 30 30

@D 10 10

M1 M5X0.8

M2 M10X1.0|[ M10X1.0

X° 17.5° 17.5°

W. 171g 171g
Dropout C58H 8R :

28

10 10 10

M10X1.0 || M3X0.5
33g 38g 399

C66

Dropout

MODEL C66-1 | C66-2
A 18 18 18

B
] B 16 16 16
] C 28 28 28

Y | M1 M5X0.8 || 2-M5X0.8

M2 M10X1.0 ||M10X1.0 ||M10X1.0
M12X1.75 || M12X1.75 || M12X1.75
M3 M12X15 ||M12X15 ||M12X15
M12X1.0 ||M12X1.0 |[M12X1.0
W, 1464 1529 158

Co7/

Dropout
C67/H5 | C67/H6 | C67/H7
18 18 18
16 16 16
28 40 30.6
74.2 74.2 74.2
55.9 55.9 55.9

M10X1.0 |[M10X1.0 [|M10X1.0
M12X1.75 || M12X1.75 | | M12X1.75
M12X1.5 ||M12X1.5 ||M12X1.5
M12X1.0 ||M12X1.0 ||M12X1.0
2659 3229 318g

(26 ALLOTEC )




C638

Dropout

C69

Dropout

C/78

Dropout

C79

Dropout

Dropout

(27 ALLOTEC)

C68/H5 | C68/H6 | C68/H7

18 18 18
16 16 16
28 40 40
742 74.2 74.2
475 475 475
M10X1.0 |[M10X1.0 |{M10X1.0
M12X1.75
M12X1.5
M12X1.0
254g 311g 307g

C69-1 | C69-2

6.2 6.2 6.2

28 28 28

51 51 51

39.9 39.9 39.9
M10X1.0 || M10X1.0 || M10X1.0
M12X1.75 || M12X1.75 | [M12X1.75
M12X1.5 ||M12X1.5 ||M12X1.5
M12X1.0 || M12X1.0 || M12X1.0

78.1 78.1 78.1

282.29 2909 2989

C78-2

28
H 74.2
L 55.9
M1 M10X1.0
M12X1.75
M2 M12X1.5
M12X1.0
Wi 325.34g

28 28 28
H 34 34 34
L 15 15 15
M1 M5X0.8 || 2-M5X0.8
M2 M10X1.0 ||M10X1.0 |[M10X1.0
M12X1.75 || M12X1.75 | [M12X1.75
M3 M12X1.5 ||M12X1.5 ||M12X1.5
M12X1.0 ||M12X1.0 ||M12X1.0
W. 306.1g || 3149 321.69

18

21

28

51

39.9

2-M5X0.8

M10X1.0

M12X1.75
M12X1.5
M12X1.0

78.1

324.26g




Dropout

MODEL
A

20.5

C 30
M1 M5X0.8
M2 M10X1.0
M12X1.75
M3 M12X1.5
M12X1.0
Wt. 155.2¢g

C110

Dropout oA 11 125
2B 12.5 125
‘ C 28 28
ﬁ M2 D 10 10
M1 M10X1.0| M10X1.0
] M2 2-M5x0.8 2-M5X0.8
X° 65° 65°
c W. 200g 200g

C120

Dropout oA 11
2B 125
C 26
D 10
M M10X1.0
X° 66°
W 200g

Dropout 5 C210 | C210-1] C210-2

11.8 11.8 11.8
9.1 9.1 9.1
14.2 14.2 14.2
11.5 11.5 11.5
26 26 26
10 10 10

M5X0.8 || 2-M5X0.8
M10X1.0|| M10X1.0|| M10X1.0

54°160°/66°170° || 54°160°/66°170° | [54°160°/66°/70°
1359 1379 1399

Dropout

MODEL

DA 11
7B 125
C 26
c D 10
M M10X1.0
X° 54°/60°/66°/70°
Wi, 779

(28 ALLOTEC )




MODEL

A 18

E1l 9

E2 10

L 60

M M3X0.5
X° 100°
Wt. 2859

MODEL
A

21
El 9
E2 10
M M3X0.5
W, 1069
MATERIAL AL

MODEL

A 15

B 8

C 30

D 10

E 9

H 51

M1 M10X1.0

M2 M8X1.25

Wi 114g
MATERIAL AL
Color silver/black

Dropout . MODEL

15
I]II:FI —F A B 8
c 30
D 10
E 9
M1 M10X1.0
M2 M8X1.25
Wt. 97¢g

MATERIAL AL
Color silver/black

C28

Dropout
A 9
B 2
C 28
D 10
E 10
M1 M10X1.0
M2 M8X1.25
Wit. 101g
MATERIAL AL
Color silver/black

(29 ALLOTEC)




C35

Dropout

MODEL

9

2

10

10

51

Z|x|m|O|®m|(>

2

M8X1.25

Wt.

103g

MATERIAL

AL

Color

silver/black

4

C36

Dropout |

B 2

D 10

E 10

M1 M10X1.0

M2 M8X1.25

Wt. 739
MATERIAL AL
COLOR silver/black

CH2
15

Dropout A
B 8
C 30
D 12.1
E 9
H 51
M12X1.75
M1 M12X1.5
M12X1.0
M2 M8X1.25
M3 M10X1.0
W, 123g
COLOR silver/black|
MODEL
Dropout A 15
B 8
C 30
H 74.2
M12X1.75
M1 M12X1.5
M12X1.0
M2 M8X1.25
M3 M10X1.0
M4 M6X1.0
Wi. 160g
MATERIAL AL
COLOR silver/black
MODEL 0]
Dropout A 15
B 8
C 30
D 10
E 9
H 74.2
M1 M10X1.0
M2 M8X1.25
M3 M6X1.0
Wt. 145g
MATERIAL AL
COLOR silver/black

(30 ALLOTEC )




C40

Dropout

A 20
B 30
Wt 469

Dropout
MODEL
A 20
B 30
Wi, 169

MATERIAL| AL

gr:o‘lc];i]f

30 30 30
30 30 30
10 10 10
10.2 10.2 10.2

M5X0.8 2-M5X0.8
M10X1.0|| M10X1.0|{| M10X1.0
489 509 529
MATERIAL AL AL AL
COLOR silver/black || silver/black(|| silver/black|

MODEL
B 30 30 30

C 30 30 30

D 19.5 19.5 19.5

E 12.1 12.1 121

M1 M5X0.8 2-M5X0.8
M12X1.75| M12X1.75|| M12X1.75

M2 M12X1.5 || M12X1.5 || M12X1.5
M12X1.0 || M12X1.0 || M12X1.0

M3 M10X1.0 || M10X1.0 || M10X1.0
Wi. 709 739 759
MATERIAL AL AL AL

COLOR silver/black||silver/black||silver/black

C70

Dropout MODEL

A 21 21
D 10 10
E 16 16
H 34 34

LI E | 36.5 36.5
L 10 10
M M5X0.8
Wi. 1429 149g

(31 ALLOTEC)




C71

Dropout

2 Lk

C/72

Dropout

o E A o

%

 — )}
=4

C74

Dropout

Cr7

Dropout

o

MODEL
A

21 21
D 10 10
M M5X0.8
Wit. 409 489

MODEL

A 21 21
D 10 10

E 16 16

H 34 34

| 36.5 36.5
L 10 10

M M5X0.8
Wi. 1429 1499

28
L 19.5
M12X1.75
M1 M12X1.5
M12X1.0
M2 M10X1.0
Wi. 45¢g
MATERIAL] AL
COLOR silver/black

MODEL
C

28
D 10
M M10X1.0
Wt. 369
MATERIAL AL
COLOR silver/black

MODEL

D 10
Wi. 399
MATERIAL AL
COLOR silver/black

(32 ALLOTEC )




Top Head L

ug
§ B MODEL

oA 25.4
xo g 2B 318
H 42
— oA
X? 70.5°
Wi. 25¢g
H

MODEL] F02 |

@A 28.6
H @B 318
H 16
X° 61.5°
W, 25g

MODELT F03 T F05 |

DA 28.6 28.6
2B 31.8 36
H 49.5 49.5
X° 10°73°176°79° 13°016°/79°
Wi. 25¢g 239

FO4/FO6
Bottom Head Lug MODEL] F04 | FO06 |

oA 31.8 31.8
2B 31.8 36
H 56.5 56.5
X° 58°/60°/63°/66°/69°| | 58°/60°/63°/66°
H Wit. 309 279

(33 ALLOTEC)




Top Head Lug

MODEL
DA 25.4
7B 31.8

H 50

X° T1°174°177°180°

Wi. 289
Bottom Head Lug

MODEL
DA 28.6
B 31.8

H 55
X° 57°/60°/63°/66°
Wt. 32g

Top Head Lug

7B
X° —

MODEL| F09 |

oA A 25.4

7B 318

= H 42

H X° SO Te L

M~ Wi. 199

Bottom Head Lug

MODEL] F10 |
L DA 28.6
B 31.8
H H 50.5
X° 58°160°/61.8°/63°/66°
Wit. 249

7B

(34 ALLOTEC )




Head Lug

-

Top Head Lug o

(35 ALLOTEC)

—<

MODEL
DA 30.4
oB 32.4
Wt. 79
B
MODEL
DA 30.4
7B 32.4
M M5X0.8
Wt. 11g
MODEL | F111
DA 25.4
7B 31.8
H 49.5
X° T25°115.0°019°
Wi. 18g
H
MODEL | F110
DA 28.6
oB 31.8
H 55
X° 58.4°/61.6°77 5°
Wi, 23g




Lug
X°

DA

F121
Top Head o8

/“

MODEL | Fi21
DA

28.6
7B 31.8
H 49
f X° 70.5°73.5°17°
H Wi. 21g
MODEL | F120
oA 31.8
7B 31.8
H 55
H X° 59.5°/63°/66°
Wi. 249

F131/F135/F141/F15

Top Head Lug

MODEL F131 Fi141 F135

Bottom Head Lug

XO
oA

F130/F132/F134/F14C0

X° T—

oA 25.4 28.6 25.4
2B 318 31.8 36
o8B H 52 52 55
X° | [oms sy e e [z s s T s s e 73°
— Wt 289 30g 28g

MODEL F151

F161

DA 28.6 31.8

B 36 36
H 52 52
X° T2MI3STISITTIY°I8°105°/108° | | 72°(73°[75°(77° 180°/88°105°
Wt. 35¢g 38g

MODEL
DA

F130 F140 F132

28.6 31.8 25.4

@B 31.8 31.8 31.8

H 56 60 60

X° 58°/59.5°/61°/63°||58°/59.5°/61°/63° 61°

Wi. 38g 40g 409

MODELY F150 F160

DA 31.8 34.9 28.6
oB 36 36 36

H 60 60 60

X° 58°/60°/62°/64° 59°/61° 77.30°

Wi. 45¢g 48g 48g

(36 ALLOTEC )




F 133/F 143/F 153 MODEL] F133 F143 | K]
Top Head Lug oA 25.4 28.6 28.6
318 36

7B 31.8
25 25 25

[%]3] E
P— H 67 67 67
X° X° 73.5° 73.5° 73.5°
E Wit. 55¢g 55¢g 55¢g
DA
H

F182
Top Head Lug e
|
DA
RB

| DA 28.6

F1/73/F183
Top Head Lug

X° 77°
Wt. 339

@
; 5 MODELY F173 | F183
DA 25.4 28.6
/ 7B 31.8 31.8
/ H 495 49.5
I X° 22° 22°/55°
/ Wi. 55¢g 55¢g
H
|
A
XO
Top Head Lu 28
b J T MODELY F175
dA 14X2
@B 31.8
H 49.5
X° 98.8°
Wit. 299

U

]

(37 ALLOTEC)




IT—'O;LHZaéLL/uI5181/ F191 iopeL

oB 31.8 318
H 495 495

x° X° 35NPN05.2120° || 12559198 8°108°
Wi, 289 30g

MODELT _F191 ]

oA | DA 28.6
2B 36
H H 49.5
| X° 73.5°/75°(79°/98°/108°
Wt. 35¢g

F170/F180/F190
Bottom Head Lug MODEL

[ F170 | F180

28.6 31.8
31 8 31.8
55

59.5° 161 8° /63 164.6° 59.5°/63°/66.8°

35g

409

31.8

36

55

59.5°/63

409

-
Wi.
H MODEL

DA .

oB
H

XO XO o o

Wi.

F211/F221/F223
Top Fead Lug mmm

25.4 28.6 28.6
235 26.4 26.4
318 31.8 36
H 49.5 495 495
X 125°075° 73.5° 73.5°
X o]:] Wt 469 51g 53g

F210/F220/F222
Bottom Head Lug mm@

28.6 31.8 31.8
26.4 29.9 29.9
31.8 31.8 36
H 55 55 55
H X 59.5°/62° 59.5°/62° 59.5°
Wi. 739 739 739
|

(38 ALLOTEC )




F231/F241/F243 (= TR ETRGTR

H 52 52 52
X | X° TLM2T3 TS| TLTeT3 A e e || 73°I75°I7°
Wt. 339 35¢g 379
A
|
~ H
I~
|

F230/F240/F242
Bottom Head Lug 'MODELJ F230 T'F240 T F242 ]

' DA 28.6 31.8 31.8
! 7B 31.8 31.8 36
' H 60 60 60
X° 59°160°161°162°163°] | 58.5°160°(62° 58°/60°/62°
H Wi. 429 439 45¢g

~ |
B

Top Head Lug
x/‘“‘ MODEL | F251

DA 14

I~

vy

F250 o8
Bottom Head Lug MODEL | F250 |
|

oA 16
oB 318
H 55
| X° 60°/62°
H / Wi. 409
’ |
1
oA
. X° |

(39 ALLOTEC)

7B 31.8
H 50
X° T3[75.0°078°
Wi. 339




£271/F281/F283

‘ MODELT P71 T P81 T 263 ]

25.4 28.6 28.6
@a 23.6 26.4 26.4
7B 31.8 31.8 36
H 48 48 48
X° 74° 74° 74°/76°
H Wit. 729 749 769

28.6
26.4 29 9 29.9
31.8 31.8 36
H 53.5 53.5 53.5
H X° 58°/60°/62° 60° 60°
W. 85g 879 90g

F311/F321/F323
Top Head Lug ﬁmm

25.4 28.6 28.6

23.6 26.8 26.8

31.8 31.8 36
H 50 50 50
X° 74° 74° 74°
WH. 729 749 769

|
/H
I

F310/F322
Bottom Head Lug [MODEL] F310 | F322 |

DA 28.6 31.8
@a 26.8 30
7B 31.8 36
H 58.8 58.8
X° 60°/62° 60°/62°
Wit. 85¢g 90g

(40 ALLOTEC )




F331/F341
Top Head Lug mm

F330/F340

Bottom Head Lug

a

g%20/6127

DA

(41 ALLOTEC)

25.4 28.6
31 8 31.8
55
X° 73 5° 73.5°
Wi. 729 729
MODEL | F330 | F340 |
TA 28.6 31.8
B 31.8 31.8
H 60 60
X° 60° 60°
Wi, 729 729
MODEL] G120 | G127
DA 25.4 28.6
M M6X1 M6X1
X° 17° 17°
Wit. 669 70g
MODELY G121 | G122 )
DA 25.4 28.6
M M6X1 M6X1
X° 17° 17°
Wi. 669 709
MODEL] H120 | H127 ]
DA 25.4 31.8
M M5X0.8 M5X0.8
Wt. 45¢g 489




oA 28.6 28.6 28.6
@B 28.6 28.6 28.6
aC 222 222 222
X° 59° 59° 61.6°
ye 61° 66° 65.5°
z° 7° 7° 7°
W 145g 145g 1459

oA 31.8 | 31.8 || 31.8 | 31.8 | 31.8 | 318

2B 286 | 28.6 || 286 | 28.6 | 28.6 | 28.6

@C 222 || 222 || 222 | 222 || 22.2 | 222

X° 58.5° | 60.5°| 62.5°] 62° | 59° || 61.6°

Ye 65° | 65° | 65° 69° | 68° | 62.9°

z° 7° 7° 7° 7° 7° 7°

W 168g || 168g || 1689 | 168g | 168g || 1689

V) N\ N\ N\ N\ N\ N\

oA 286 | 28.6 | 28.6 | 286 | 28.6 | 28.6
2B 28.6 | 28.6 | 28.6 | 28.6 | 28.6 | 28.6
@C 222 || 222 | 222 | 22.2 || 22.2 | 222
X° 60.5° | 68° | 62.9° || 61.6° || 61.9° | 58.4°
Ye 64° || 62° | 58.4° | 62.9° | 68.2° | 62.9°
z° 7° 7° 7° 7° 7° 7°

Wt 175q9 || 1759 || 1759 | 1759 | 1759 || 1759

N\ N\
oA 318
2B 28.6
aC 22.2
L 68/70
M 137 X24TIMGX24T
X° 60.5°
Ye 61.5°
z° 7°
W. 1759

(42 ALLOTEC )




(43 ALLOTEC)

- D D
DA 28.6 28.6
7B 28.6 28.6
agcC 22.2 22.2
X° 79.5° 79.5°
Y° 70.4° 75°
Zo 70 70
WH. 1549 1549
4 N N
DA 28.6 28.6
7B 28.6 28.6
acC 22.2 22.2
X° 60.43° 61.8°
Y° 62.72° 67.5°
Zo 70 70
Wi. 1549 1549
s s D
DA 31.8 31.8
[%)3] 28.6 28.6
aC 22.2 22.2
X° 58.7° 59.3°
Y° 65.2° 62.3°
ZO 70 70
Wi. 1479 1479
P s Y
DA 31.8 31.8
[%]3] 28.6 28.6
aC 22.2 22.2
X° 61.6° 62.5°
Y° 65.5° 59.5°
Z° 7° 7°
Wi. 1479 1479
DA 28.6 28.6 28.6 28.6 28.6 28.6 25.4
[%]=] 28.6 28.6 28.6 28.6 28.6 28.6 28.6
@C 22.2 22.2 22.2 22.2 22.2 22.2 22.2
X° 57.38°| 58.78°| 59.89°| 61.14° || 62.14°| 75.30°|| 59.5°
Y° 64.8° || 63.55°| 63.25°| 63.25° || 63.25°|| 78° 67°
z° 7° 7° 7° 7° 7° 7° 7°
Wi. 1759 || 1759 | 1759 || 175g | 1759 || 175g || 1759
DA 31.8 31.8 31.8 31.8 31.8 34.9
7B 28.6 28.6 28.6 28.6 28.6 31.8
@C 22.2 22.2 22.2 22.2 22.2 22.2
X° 58° 59° 60° 61° 62° 60.2°
Y° 64° 64° 64° 64° 64° 63.2°
Z° 7° 7° 7° 7° 7° 7°
WH. 1759 || 175g | 1759 || 175g | 1759 || 1759




DA 28.6 | 28.6 | 28.6 | 28.6

2B 28.6 28.6 28.6 28.6
agc 22.2 22.2 22.2 22.2
X° 57.38°| 59.3° | 61.5° || 62.14°
Y° 64.8° || 64° 67.3° || 63.25°
Zz° 7° 7° 7° 7°
WH. 1479 | 1479 || 1479 | 1479
4 0
DA 318 || 31.8 | 31.8 | 31.8 || 31.8
2B 28.6 28.6 28.6 28.6 31.8
agc 22.2 22.2 22.2 22.2 22.2
X° 56.8° | 58° 60° 62° 67.4°
Y° 62.9° | 64.2° || 64.3° | 64° 58.7°
Z° 7° 7° 7° 7° 70
Wt 147g || 147g || 147g || 147g || 1479

C D
DA 286 || 28.6 || 286 || 31.8 || 31.8 | 31.8
Da 26.8 || 26.8 | 26.8 | 29.9 [ 29.9 | 29.9
2B 28.6 || 28.6 | 28.6 | 28.6 | 28.6 | 28.6
@b 26.8 || 26.8 | 26.8 | 26.8 | 26.8 || 26.8

@C 222 | 222 | 222 | 222 | 222 | 222
@c 20.35 || 20.35 | 20.35 | 20.35 || 20.35 | 20.35
X° 58.4° | 60° | 60° | 58.4°| 60° | 61.9°
ye 62.9° | 64° | 68° | 62.9°] 64° | 68.2°
z° 7° 7° 7° 7° 7° 7°
Wt. || 220g | 220g | 220g | 230g | 230g || 230g

| N\
oA 28.6 || 286 || 318
o8B 28.6 || 28.6 || 28.6
C 222 |[27x17][ 22.2
X° 60° 58° || 60°
ye 64° || 67.5° || 62.72°
z° 7° 7° 7°

Wt. 300g || 302g ||312.59

7"X24T

1.

(44 ALLOTEC)




(45 ALLOTEC )

DA 28.6 | 31.8 | 31.8 || 31.8 || 349 | 349 | 34.9
7B 28.6 | 28.6 | 28.6 | 31.8 || 31.8 || 31.8 | 31.8
C 27X17 | 30X17 || 30X17 | 30X17 || 30X17 || 30X17 || 30X17
X° 59.5° || 57.38°| 60.5° || 60° 57° 60° 63°
Y° 62.5° | 64.8° || 62° 64° 64° 62° 65°
z° 7° 7° 7° 7° 7° 7° 7°
Wt. 1759 || 175g | 1759 || 175g | 1759 || 175g | 175g
4 aYa N D
DA 28.6 28.6
2B 28.6 28.6
Cc 27X17 27X17
X° 59.5° 61.9°
Y?° 62.5° 68.2°
Zo 70 70
Wi. 1759 175¢g
s Y4 aYa 2
DA 31.8 31.8
2B 28.6 28.6
C 30X17 30X17
X° 58° 60°
Y° 64° 64.3°
ZO 70 70
Wt. 1809 180g
S Y2 aYa D
oA 28.6 28.6
o8B 28.6 28.6
C 30X17 30X17
X° 57.38° 60°
Y° 64.8° 64°
Zz° 7° 7°
Wi. 1789 1789
Yo N D
DA 31.8 31.8
7B 28.6 28.6
C 30X17 30X17
X° 58° 60°
Y° 64° 64°
ZO 70 70
Wit. 1839 183g
P N D
DA 16
2B 28.6
agCc 16
X?° 60°
Y° 64°
z° 7°
Wi, 175¢g




15.9
B 2.4
(%] 6.3
Wt. 12g

"MODEL] E06 |

RA 15.9
2B 2.4

Wi. 8g

MODEL
RA 15 11
28 6.3 6.3
C 2.6 2.6
Wt. 109 109

MODEL] E12 T E14 |
RA 17.5 12
2B 6.3 63
c 2.6 26
Wit. 10g 10g

MODEL] E32
A 6
2

B

R 16
Wit. 89

(46 ALLOTEC )




E33

Cable Stopper

MODEL| E33 |
RA 14.3
RB 2x2.6
C 7.6
r h H 7.5
¢ L 20
L Wt. 59
Cable Stopper
RB MODEL| E48 |
RA 14.3
RB 3%x2.75
C 7
H 9
L 16
Wt. 39
RA
MODEL
RA 11
B 2.7
C 12
Wi, 79
Cable Stopper
MODEL| E26 |
RA 15.9
M B 20
aC 6.8
M M5X0.8
Wt. 89
Cable Stopper R
N
ANZALE MODEL
A A 8
B 5.8
- Wi, 69

(47 ALLOTEC )




Cable Stopper

MODEL
DA

6.2
RB 16
Wit. 10g

MODEL
DA 7.5
M M5X0.8
Wt. 3g

H 1
£ MODEL
' A 11
D 7
E 5
) H 7
M M5X0.8
WH. 49

Cable Stopper
MODEL] E31-1 | E31-2
RA

I I
9.525 9.525
M M10X1.0 || M10X1.25
Wi. 12g 12g
( RA
M

E39
"mopELT"E30 1

Cable Stopper M.

DA 12

7B 10

R C 10

c M M6X1.0
Wt. 59
| o8 |
DA

(48 ALLOTEC )




EO4

Boss Front Derailleur

RA 15.9
B 1.2
W, 19g

RA

EO8

Boss Front Derailleur

B RA 14.3
B 1.2
Wit. 8¢9

RA

MODEL
B RA 14.3
B 1.4
Wi. 79
RA

H 37
W 28
Wt. 199

EO9

Boss Front Derailleur

Boss Front Derailleur

E34

Boss Front Derailleur

RA 14.3
RB 20

L 22.1
M M5X0.8

Wt. 189

(49 ALLOTEC)




B 5.2
M M6X1
Wit. 419

Boss Front Derailleur I %ﬁ %

>

Esﬂ- F(r)or/;t%ﬁa:%ur (MODELT_E40

15.9
B 25 25 25

C 8.7 8.7 8.7
L 16 20 20
Wi. 149 169 169

aemem

2B 13.5 16.6
M C 10 10
Cc d M M5X0.8 M5X0.8
Wt. 439 639

D D
P\

\QB

E47
.

7B 12.8
1 M M5X0.8
= G T
|
DA
MODEL [ E49 |
@C 2 A 19

2B 15

gcC 10
N Wt. 789/29g
T MATERIAL|| CRMO/AL

W TSV

(50 ALLOTEC )




E21

Brake Bridge
L
DA 8.5 8.5
B 72 86
Xe 132° 132°
Wi. 309 319
Brake Bridge
-
A 8.5
B 68
X° 132°
Wi. 31g
A 7.1 7.1
B 7.1 7.1
X 72 60.5
Y 59 46.4
Wi. 369 24q

E28

Brake Bridge MODEL[" E28 |

L DA 105
o
J7T 1ZD L 70
@c ) ( Wt 259
X A %
2B

Brake Bridge

B DA 8.5
B 80
2A zc 13.9
33
. @ W, g

(51 ALLOTEC )




A 8.5
-QiA B 65
) Wt. 299
B
MODEL
DA 8.5
B 80
2\ @C 1.2
i@} %3 Wt. 29g
MODELY E232 Y E233
oA 14 18
Da 12 16
@C 16 22.6
gc 13.9 20
E 18 28
H 48.9 50.8
w 34.7 34.7
x° 8.5° 8.5°
Wt 669 1039
Brake Bridge RIEFER ¢
B 17.6
RA C 35
@D 8.5
Wit. 29
Front Disk Brake HODER %
M M6X1
MATERIAL AL/CrMo
Wi. 23g/669

MODELY ____E30 ]

[P——
|
T

=

\ T
.

(552 ALLOTEC )




M MODEL

H 74.2

74.2

M M6X1
Wit. 82g
( MODELY  E46 ]
H 74.2
M M6X1
Wt. 60g
oA 14 16
L 15 15
H 34 34
Wt. 339 369
A 3
L 10
H 34
Wi, 31g

(53 ALLOTEC)




@C 8.5
L1 91.8
L2 60.2
W 54
Wit. 5269
for E-6000

agc 8.5
L1 69
L2 108.4
W 71
Wit. 1047.69
for E-8000

agc 10
L1 25.79
L2 73.86
Wi 47
Wi. 832.9g
for MAXO01

agc 8.5
L1 69
L2 108.4
W 71
Wi. 932.8g
for E-5000

(54 ATTOTEC)




MODEL TEO1
6

A
B 18
R 8.88

R

MODEL TEQ2

—w | >

—8 |

MODEL TEO5
6

L
?C
D 3
L 40
- W 12.8
@C Wi. 69

(55 ALLOTEC)




/\
0 DA 14 16
o 2B 12 14
0 L L 61 61
\_J Wi. 20g 219
I
B
A
-
]
A 13 15
| 7B 10.5 12.5
: L 60 60
7_? Wt 11g 12g
B
A
oA 12
2B 14
Wt. 40g

2B 14 16
L 48 48
- Wit. 20g 209
A
B

(56 ALLOTEC)

L G




M6X22

M6X20

L

-

¥
E
wE
b= 3
k<3
L 3
s
4
at
[ 33
3
e
-

M6X14 Mox1d

(57 ALLOTEC}







	2020dmAB(面)
	2020dmAB-2
	2020dmAB-3
	2020dmAB-4
	2020dmAB-5
	2020dmAB-6
	2020dmAB-7
	2020dmAB-8
	2020dmAB-9
	2020dmAB-10
	2020dmAB-11
	2020dmAB-12
	2020dmAB-13
	2020dmAB-14
	2020dmAB-15
	2020dmAB-16
	2020dmAB-17
	2020dmAB-18
	2020dmAB-19
	2020dmAB-20
	2020dmAB-21
	2020dmAB-22
	2020dmAB-23
	2020dmAB-24
	2020dmAB-25
	2020dmAB-26
	2020dmAB-27
	2020dmAB-28
	2020dmAB-29
	2020dmAB-30
	2020dmAB-31
	2020dmAB-32
	2020dmAB-33
	2020dmAB-34
	2020dmAB-35
	2020dmAB-36
	2020dmAB-37
	2020dmAB-38
	2020dmAB-39
	2020dmAB-40
	2020dmAB-41
	2020dmAB-42
	2020dmAB-43
	2020dmAB-44
	2020dmAB-45
	2020dmAB-46
	2020dmAB-47
	2020dmAB-48
	2020dmAB-49
	2020dmAB-50
	2020dmAB-51
	2020dmAB-52
	2020dmAB-53
	2020dmAB-54
	2020dmAB-55
	2020dmAB-56
	2020dmAB-57
	2020dmAB-1(內頁)

